Irrigation & Waterways Dte. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 01

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 0.00 KM & 4.80 KM of TE1H1 embktt. Right Bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub-Division under West Midnapore Division during the year 2017-18.

Amount put to Tender :

Earnest Moncy :

₹ 1,38,926.00 ₹ 2,779.00

	Time allowed for Completion:		150 d	ays		
SI. No.	Description of Items	No. or	Unit	Esti	Amount	
	0 - No. 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	Quantity	0.000	Figure	Word	320000000000
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1080.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 25,488.0
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	540.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 3,402.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	240.00	Mtr.	₹ 19.30	Rupces nineteen and paise three zero only	रु 4,632.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2300.00	Mtr.	₹ 5.00	Rupees five and palse zero only	₹ 11,500.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ hag.	2300.00	Mtr.	रु 6.30	Rupees six and paise three zero only	रु 14,490.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	1035.00	Mtr.	₹ 6.90	Rupees six and paise nine zero only	চ 7,142.00
	b) 4 (Four) extra lead	1035.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 9,522.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	2800.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 21,560.00
8	Mazdoor (Day work)	45	Nos	₹ 206.00	Rupees two hundred six and paise zero only	ক 9,270.00
9	Mazdoor (Night work)	90	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 18,540.00

SI. No.	Description of Items	No. or	Unit	Estim	Amount	
		Quantity	7	Figure	Word	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	45	Each	रू 112.00	Rupees one hundred twelve and paise zero only	₹ 5,040.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge (measurement to be made on volume of each bundle)	150	Cum	रु 55.60	Rupees fifty five and paise six zero only	च 8,340.00
_ 33	Total Amount put to Tender in figure =					₹ 1,38,926.00
	Total Amount put to Tender in word :	Rupees one lakh thirty eight thousand nine hundred and twe six only				

i / We do nereby agree to do the above work @.	
Above / Less / At par than this Schedule Of Rat	tes attached herewith.
7-	
	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 02

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 5.00 KM & 9.00 KM of TE1H1 embktt. Right Bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub Division under West Midnapore Division during the year 2017-18.

Amount put to Tender :

Earnest Money:

₹ 1,19,537.00 ₹ 2,391.00 150 days

Time allowed for Completion:

44	Time allowed for Completion :		150 da	-		
51. NO.	Description of Items	No. or	Unit			Amount
		Quantity		Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	900.00	Mtr.	ক 23.60	Rupees twenty three and paise six zero only	₹ 21,240.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	450.00	Mtr.	£ 6.30	Rupees six and paise three zero only	₹ 2,835.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	₹ 19.30	Rupces nineteen and paise three zero only	₹ 3,860.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2000.00	Mtr.	ং 5.00	Rupees five and palse zero only	₹ 10,000.00
	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	2000.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 12,600.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	900.00	Mtr.	₹ 6.90	Rupees six and palse nine zero only	₹ 6,210.00
	b) 4 (Four) extra lead	900.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 8,280.00
7:	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	2800.00	Sqm	₹ 7,70	Rupees seven and paise seven zero only	₹ 21,560.00
8	Mazdoor (Day work)	36	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 7,416.00
9	Mazdoor (Night work)	72	Nos	रु 206.00	Rupees two hundred six and paise zero only	रू 14,832.00

SI. No.	Description of Items	No. or	Unit	Estim	Amount		
		Quantity		Figure	Word		
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	36	Each	₹ 112.00	Rupees one hundred twelve and paise zero only	₹ 4,032.00	
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	120.00	Cum	रु 55.60	Rupees lifty five and paise six zero only	₹ 6,672.00	
	Total Amount put to Tender in figure =	s:	v - A			₹ 1,19,537.00	
	Total Amount put to Tender in word :	Rupees one lakh nineteen thousand five hundred and thirty seven only					

I / We do hereby agree to do the above work	(@
Above / Less / At par than this Schedule Of	Rates attached herewith.
	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 03

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 9.20 KM & 12.900 KM of TE1H1 embktt. Right bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub-Division under West Midnapore division during the year 2017-18.

Amount put to Tender:

Earnest Money :

₹ 1,13,505.00 ₹ 2,270.00

Time allowed for Completion:

SI. No.	Description of Items	No. or Quantity	Unit	Estimated Rate		Amount
				Figure	Word	5000000
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	900.00	Mtr.	₹ 23.60	Rupces twenty three and paise six zero only	₹ 21,240.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	450.00	Mtr.	रु 6.30	Rupees six and paise three zero only	₹ 2,835.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	क 3,860.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2000.00	Mtr.	₹ 5.00	Rupees five and paise zero only	ह 10,000.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	2000.00	Mtr.	₹ 6.30	Rupées six and paise three zero only	₹ 12,600.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	900.00	Mtr.	₹ 6.90	Rupees six and paise nine zero only	₹ 6,210.00
	b) 4 (Four) extra lead	900.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 8,280.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	1800.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 13,860.00
8	Mazdoor (Day work)	36	Nos	ক 206.00	Rupees two hundred six and paise zero only	₹ 7,416.00
9	Mazdoor (Night work)	72	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 14,832.00

I No.	Description of Items	No. or	Unit	Estim	Amount	
		Quantity		Figure	Word	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	36	Each	চ 112.00	Rupees one hundred twelve and paise zero only	ক 4,032.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)		Cum	ফ 55.60	Rupees fifty five and paise six zero only	₹ 8,340.00
	Total Amount put to Tender in figure =					₹ 1,13,505.00
	Total Amount put to Tender in word :	Rupee	s one lak	ousand five hund	ered five only	

I / We do hereby agree to do the above wor	rk @
Above / Less / At par than this Schedule O	of Rates attached herewith.
	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email Id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 04

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 13.00 KM & 17.00 KM of TE1H1 embktt. Right bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub-Division under West Midnapore division during the year 2017-18.

Amount put to Tender : Earnest Money : ▼ 1,17,741.00 ▼ 2,355.00

Time allowed for Completion :

1	150 da	ys.
П	44-54	

Si. No.	Description of Items	No. or	Unit	Estim	Amount	
		Quantity	8 - 3	Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	900.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	क 21,240.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	450.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 2,835.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	रू 3,860.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2000.00	Mtr.	₹ 5.00	Rupees five and paise zero only	₹ 10,000.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	2000.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 12,600.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	900.00	Mtr.	₹ 6.90	Rupees six and paise nine zero only	₹ 6,210.00
	b) 4 (Four) extra lead	900.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 8,280.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	3000.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 23,100.00
8	Mazdoor (Day work)	36	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 7,416.00
9	Mazdoor (Night work)	72	Nos	रु 206.00	Rupees two hundred six and paise zero only	₹ 14,832.00

1	Page	No. or Quantity	Unit	Estim	Amount		
I. No.	Description of Items			Figure	Word	The Carlotte	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc.	36	Each	₹ 112.00	Rupees one hundred twelve and paise zero only	₹ 4,032.00	
11	complete. Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of	60.00	Cum	₹ 55.60	Rupees lifty five and paise six zero only	च 3,336.00	
	each hundle)	1				₹ 1,17,741.00	
	Total Amount put to Tender in figure =	-	Rupees one lakh seventeen thousand seven hunde				
	Total Amount put to Tender in word :	Rupees one lake seventeer thousand only					

/ We do hereby agree to do the above work @
Above / Less / At par than this Schedule Of Rates attached herewith.
(Signature of the Contractor)

Irrigation & Waterways Dtc. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 05

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 17.20 KM & 21.80 KM of TE1H1 embktt. Right Bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub-Division under West Midnapore Division during the year 2017-18.

Amount put to Tender:

Earnest Money :

₹ 1,34,906.00

₹ 2,698.00 Time allowed for Completion: 150 days

-	rime anowed for completion :	10	150 d	ays		
SI. No	Description of Items	No. or	Unit	Esti	Amount	
_		Quantity		Figure	Word	25/00/25/20
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1080.00	Mtr.	क 23.60	Rupees twenty three and paise six zero only	₹ 25,488.0
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	540.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 3,402.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	240.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 4,632.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2300.00	Mtr.	₹ 5.00	Rupees five and paise zero only	₹ 11,500.0
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/bag.	2300.00	Mtr.	रु 6.30	Rupees strand paise three zero only	₹ 14,490.00
	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	1035.00	Mtr.	₹ 6.90	Rupees six and palse nine zero only	ফ 7,142.00
	b) 4 (Four) extra lead	1035.00	Mtr.	रु 9.20	Rupees nine and paise two zero only	₹ 9,522.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	3000.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 23,100.00
8	Mazdoor (Day work)	45	Nos	ক 206.00	Rupees two hundred six and paise zero only	₹ 9,270.00
9	Mazdoor (Night work)	90	Nos	₹ 206.00	Rupees two hundred six and paise zero only	रु 18,540.00

. No.	Description of Items	No. or	Unit	Estim	Amount	
		Quantity	SOUTH	Figure	Word	1 500000000
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	45	Each	₹ 112.00	Rupees one hundred twelve and paise zero only	रु 5,040.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split hamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	50.00	Cum	ক 55.60	Rupees lifty five and paise six zero only	₹ 2,780.00
	Total Amount put to Tender in figure =					₹ 1,34,906.00
	Total Amount put to Tender in word :	Rupees	one lakh	thirty four th	ousand nine hund	red and six only

/ We do hereby agree to do the above work	(@
Above / Less / At par than this Schedule Of	Rates attached herewith.
	14
	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

No. 06

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 22.00 KM & 25.90 KM of TE1H1 embktt. Right Bank of river Cossy under Khanamohan (I) Section of Lachmapur (I) Sub Division under West Midnapore division during the year 2017-18.*

Amount put to Tender:

Earnest Money:

▼ 1,15,373.00 ▼ 2,307.00

Time allowed for Completion:

	Time allowed for Completion :		150 da	77.0		
il. No.	Description of Items	No. or	Unit		ated Rate	Amount
		Quantity		Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	900.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 21,240.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	450.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 2,835.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	₹ 19.30	Rupees nineteen and palse three zero only	₹ 3,860.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	1900.00	Mtr.	रु 5.00	Rupees five and paise zero only	₹ 9,500.00
S	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ hag.	1900.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	⊽ 11,970.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	855.00	Mtr.	₹ 6.90	Rupees six and paise nine zero only	₹ 5,900.00
	b) 4 (Four) extra lead	855.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 7,866.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	2500.00	Sqm	চ 7.70	Rupees seven and paise seven zero only	₹ 19,250.00
8	Mazdoor (Day work)	36	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 7,416.00
9	Mazdoor (Night work)	72	Nos	रु 206.00	Rupees two hundred six and paise zero only	₹ 14,832.00

No.	Description of Items Page	No. or Unit	Estim	Amount			
je vodeni od	6. 0000000 2-10000000000000000000000000000	Quantity	ADDRESS AND	Figure	Word	200000000000000000000000000000000000000	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	36	Each	₹ 112.00	Rupees one hundred twelve and paise zero only	₹ 4,032.00	
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	120.00	Cum	₹ 55.60	Rupees fifty five and paise six zero only	₹ 6,672.00	
	Total Amount put to Tender in figure =	<u> </u>				₹ 1,15,373.00	
	Total Amount put to Tender in word :	Rupees one lakh fifteen thousand three hundred and sev					

/ We do hereby agree to do the above work @	<u> </u>
Above / Less / At par than this Schedule Of Ra	ites attached herewith.
	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 07

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 26.00 KM & 28.00 KM of TE1H1 embktt. Right bank of river New Cossy under Khanamohan (I) Section of Lachmapur (I) Sub- Division under West Midnapore division during the year 2017-18".

Amount put to Tender:

₹ 1,30,463.00 ₹ 2,609.00

Earnest Money :

150 days

Time allowed for Completion:

SI. No.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
danies	- 20-48/V (N 10/80 N-2)	Quantity	- 8	Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	450.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 10,620.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	225.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 1,418.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	100.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 1,930.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	1000.00	Mtr.	₹ 5.00	Rupees five and paise zero only	₹ 5,000.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	1000.00	Mtr.	₹ 6.30	Rupees six and palse three zero only	₹ 6,300.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	450.00	Mtr.	रू 9.20	Rupees nine and paise two zero only	रु 4,140.00
	b) 4 (Four) extra lead	450.00	Mtr.	₹ 11.50	Rupees eleven and paise five zero only	₹ 5,175.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	1000.00	Sqm	रू 7,70	Rupees seven and paise seven zero only	क 7,700.00
8	Mazdoor (Day work)	166	Nos	ক 206.00	Rupees two hundred six and paise zero only	₹ 34,196.00
9	Mazdoor (Night work)	202	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 41,612.00

SI. No.	. Description of Items	No. or	No. or Unit	Estim	Amount	
		Quantity		Figure	Word	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	36	Each	₹ 112,00	Rupees one hundred twelve and paise zero only	₹ 4,032.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	150.00	Cum	₹ 55.60	Rupees fifty five and paise six zero only	₹ 8,340.00
	Total Amount put to Tender in figure =			55		₹ 1,30,463.00
	Total Amount put to Tender in word :	Rupees or	e lakh th	irty thousand	four hundred an	d sixty three onl

/ We do hereby agree to do the above work @)
Above / Less / At par than this Schedule Of Ra	ates attached herewith.
8	(Signature of the Contractor)

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 08

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch.28.00 KM & 29.90 KM of TE1H1 embktt. Right bank of river New Cossy under Khanamohan (I) Section of Lachmapur (I) Sub- Division under West Midnapore Division during the year 2017-18.

Amount put to Tender:

Earnest Money:

₹ 1,03,565.00 ₹ 2,071.00

Time allowed for Completion:

SI. No.	Description of Items	No. or	Unit		nated Rate	Amount
	. V	Quantity		Figure	Word	v - 3000-20000
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	900.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	৳ 21,240.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	450.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 2,835.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	200.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 3,860.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2000.00	Mtr.	रु 5.00	Rupees five and paise zero only	₹ 10,000.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/bag.	2000.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 12,500.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	900.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	रु 8,280.00
	b) 4 (Four) extra lead	900.00	Mtr.	₹ 11.50	Rupees eleven and paise five zero only	₹ 10,350.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	2400.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 18,480.00
8	Mazdoor (Day work)	18	Nas	₹ 206.00	Rupees two hundred six and paise zero only	₹ 3,708.00
9	Mazdoor (Night work)	36	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 7,416.00

SI. No.	Description of Items	No. or	Unit	Estim	ated Rate	Amount
		Quantity		Figure	Word	THE PROPERTY.
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.		Each	₹ 112.00	Rupees one hundred twelve and paise zero only	₹ 2,015.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	50.00	Cum	₹ 55.60	Rupees lifty five and paise six zero only	₹ 2,780.00
	Total Amount put to Tender in figure =	·				₹ 1,03,565.00
	Total Amount put to Tender in word :	Rupees o	d five hundred an	d sixty five only		

I / We do hereby agree to do the above work	k@
Above / Less / At par than this Schedule Of	Rates attached herewith.
	(Signature of the Contractor)

A b - t - - t - C - - t

Irrigation & Waterways Dte.
Office of the Executive Engineer
West Midnapore Division
Medinipur, Paschim Medinipur
email id- eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

Sl. No. 09

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 30.10 KM & 35.90 KM of TE1H1 embktt. Right bank of river New Cossy under Khanamohan (I) Section of Lachmapur (I) Sub- Division under West Midnapore division during the year 2017-18.

Amount put to Tender:

Earnest Money:

₹ 1,49,218.00 ₹ 2,984.00

Time allowed for Completion:

48.44	Time allowed for Completion :		150 da			
51. No.	Description of Items	No. or	Unit		nated Rate	Amount
	Supplying, dressing and stacking at site bamboo	Quantity	==3	Figure	Word	
1	pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1080.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 25,488.0
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	540.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 3,402.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	240.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 4,632.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2300.00	Mtr.	₹ 5.00	Rupees five and paise zero only	₹ 11,500.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ hag.	2300.00	Mtr.	₹ 6.30	Rupees six and palse three zero only	₹ 14,490.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	1035.00	Mtr.	₹ 6.90	Rupees six and palse nine zero only	₹ 7,142.00
	b) 4 (Four) extra lead	1035.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	₹ 9,522.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	3500.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 26,950.00
8	Mazdoor (Day work)	54	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 11,124.0
9	Mazdoor (Night work)	108	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 22,248.00

31. NO.	Description of Items Page	No. or	Unit	Estimated Rate		Amount
_	2 1/ 700	Quantity	Section 1	Figure	Word	1200000000
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	54	Each	হ 112.00	Aupees one hundred twelve and paise zero only	₹ 6,048.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)	120.00	Cum	ক 55.60	Rupees fifty live and palse six zero only	₹ 6,672.00
	Total Amount put to Tender in figure =					₹ 1,49,218.00
	Total Amount put to Tender in word :	Rupees one lakh forty nine thousand two hundred a				

/ We do hereby agree to do the above w	vork @
Above / Less / At par than this Schedule	Of Rates attached herewith.
	(Signature of the Contractor)

Irrigation & Waterways Dte. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur email id-eewmid2012@gmail.com

NIT NO- WBIW/EE/WMD/NIT-08 of 2017-18

SI. No. 10

Schedule of Quantity, Unit, Rate and Amount for the work FPM works in between Ch. 36.00 KM & 41.50 KM of TE1H1 embktt. Right bank of river New Cossy under Khanamohan (I) Section of Lachmapur (I) Sub- Division under West Midnapore division during the year 2017-18.

Amount put to Tender:

Earnest Money:

₹ 1,55,975.00 ₹ 3,120.00

	Time allowed for Completion :		150 da			
I. No.	Description of Items	No. or	Unit		nated Rate	Amount
	impures et un 154 April Prinsip 200	Quantity	100120	Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1080.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 25,488.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 cm. Av. Diametre	540.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 3,402.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	240.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 4,632.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg)	2300.00	Mtr.	₹ 5.00	Rupees five and paise zero only	₹ 11,500.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	2300.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 14,490.00
6	Extra rate in item no. 5.00 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. a) 3 (Three) extra lead	1035.00	Mtr.	₹ 9.20	Rupees nine and paise two zero only	क 9,522.00
	b) 4 (Four) extra lead	1035.00	Mtr.	₹ 11.50	Rupees eleven and paise five zero only	₹ 11,903.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	4000.00	Sqm	হ 7.70	Rupees seven and paise seven zero only	₹ 30,800.00
8	Mazdoor (Day work)	54	Nos	₹ 206.00	Rupees two hundred six and paise zero only	₹ 11,124.00
9	Mazdoor (Night work)	99	Nos	ক 206.00	Rupees two hundred six and paise zero only	₹ 20,394.00

C) 11-	Description of Items	No. or Quantity	Unit	Estim	Amount	
21. NO.				Figure	Word	
10	Supplying 500 C.P. incandescent lamp (i.e. petromax daylight, Hasag, etc.) on hire basis for 10 hours including supply of necessary fuel etc. complete.	54	Each	₹ 112.00	Rupees one hundred twelve and palse zero only	₹ 6,048.00
11	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer- in charge. (measurement to be made on volume of each bundle)		Cum	₹ 55.60	Rupees fifty five and paise six zero only	€ 6,672.00
	Total Amount put to Tender in figure =				12	₹ 1,55,975.00
	Total Amount put to Tender in word :		ne lakh fi		and nine hundred	and seventy five

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates	attached herewith.
	(Signature of the Contractor)